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multiple reproduction of any part of thismaterial is
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Requestsfor such permission should be made by
e-mailing Mr. Wen-Hsien SUN ccmp@seed.net.tw
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1. 1009+ 2018+ 3027 + 4036 = ?

=1009 +1009 x 2 + 1009 x 3+1009 x 4

=1009% (1+2+3+4)

=10090

2. 137+569+284+7.85+4.16+3.31+9.15+8.63= ?
=1.37+8.63+5.69+3.31+2.84+4.16+7.85+9.15

=10+9+7+17
=43

3. 37x663= "7
=37x3x221

=111x221
= 24531
4, 19+ 298+ 3997 + 49996 + 599995 = ?
=(20-1) + (300 - 2) + (4000 - 3) + (50000 - 4) + (600000 -5)
= (20 + 300 + 4000 + 500000 + 600000) — (1+ 2+ 3+ 4 +5)

= 654320-15
= 654305
1.1 1 1
—X—+ —X—
5 33 4 4_,
1 1
T x =
5 5
1,1 16,9 25
_9 16 _144 144 _144 _25%25_625_ 49
1 1 1 7 144 144 144
25 25 25

6. 15x15x15x15x15x8x8x8x8x8+-6+-6+-6+-6+-6= 7
=3xX5Xx3X5X3XE5EX3XEXIXEX2X2X2X2X2X2X2X2X2X2X2X2X2X2X2

+3+2+3+2+-3+2+3+2+3+2
=EXEXEXEXEX2X2X2X2X2X2X2X2X2%X2
= 3200000



7. 4x16825+8x168.125= ?
=4x(168+ 0.25) +8x (168 + 0.125)

=(4+8)x168+1+1
=(10+2)x168+ 2
=1680+336+2
=2018

8. 1982x2018=?
= (2000 —-18) x (2000 +18)
= 2000° —18°
= 4000000 - 324
=3999676

9. 104x125x707x2999= ?
=8x13x125x7x101% (3000-1)

=8x125x 7x13x101x (3000 - 1)
=1000x 91x 101x (3000 —1)
=1000x9191x (3000-1)
= 27573000000 -9191000
= 27563809000
10. 23257418+5x2325x5x 7418 -4 x 2325x4x 7418 —-3%x 2325x 3% 7418= ¢
=23257418+ 2325% 7418% (5x5-4%x4-3%x3)
= 23257418 + 2325 7418 (25-16-9)
=23257418
11. 2.21+2.24+227+---+20.12+20.15+20.18= ?
_(2.21+20.18) x 600
- 2
=22.39x 300
=6717

37+ 74+111+148+185+ 222+ 259+ 296+ 333 _ o

111+ 222 + 333+ 444 + 555+ 666 + 777 + 888 + 999 o
37x(1+2+3+4+5+6+7+8+9)

111x(1+2+3+4+5+6+7+8+9)

= 27067353 x 37
111

12. 27067353 %

=2706/353x

=2706/353x %

=9022451



dea?-1-7 _o05)
13 5 °5 4 20 s
03x(1-1-1)
3 6
4,9.1.7_1 1818 a1, .3
_5 5 4 20 20_5 20_'5 20~ 20 _4s
1 3 1 3 3
0.3x= — X = — —
2 10 2 20 20
14, 142-3+4+45-6+7+8-9+-..+ 2014+ 2015~ 2016 + 2017 + 2018 = ?
[ &2 1)

= (1+2-3)+(4+5-6) + (7+8=9) +--- + (2014 + 2015 — 2016) + (2017 + 2018)
=0+3+6+9+--+2013+4035

_(3+2013)x671 o

=6/6368 + 4035

= 680403

[ 2]
=(1+4+7+-.-+2017)+(2+5+8+---+2018) - (3+6+9+--- + 2016)
_(1+2017)x673 N (2+2018)x673 (3+2016)x672
- 2 2 2
= (1009 +1010) x 673 - 2019% 336

=2019%673-2019% 336
=2019x%337

= 680403
[ & 3)
=1+2+3+4+5+6+7+8+9+.--+2016+ 2017 + 2018 -2%x (3+6+9+--- + 2016)
_ (1+2018) x 2018 o (3+2016) x 672
2 2
=2019%1009 —2019x% 672

= 2019 % (1009 - 672)
= 2019% 337
= 680403

15. 2.018%(1.333+0.685) + 2x(2.018 - 0.036) x 2.018 +1.982 X% x5946= 9

=2.018x%2.018+2x1.982x 2.018 +1.982x1.982
= (2.018+1.982)?

=4°

=16



16. 201.8x5.999 - 20.18x59.98 + 2.018x509.7 - 0.2018x 5996 = ?
= 2018 0.0001x (5999 - 5398 + 5997 ~ 5996)
= 0.2018x2
= 0.4036
17. (20222 % 20) + (40~ 222 x 40) + (60~ == x 60) + (80—~ =2 x 80)
720 720 720 720

+(100 - 219 100) + (120 - 219 x120) + 140 - 119 x140) + 160 - 119 x160) = 2
720 720 720 720

=20x (1—&) + 40 % (1—&) + 60 x (]rﬁ) +80x (l—ﬁ)
720 720 720 720
+100% (1- 119y 4120 % (1- 119y 4 120 % (1- 119 4 160x (1- 119y
720 720 720 720

= (2o+4o+6o+80+1oo+120+14o+160)x(1—%z)

= 720x (1- 21
720
=720-119
=601
18. 20182020x 20180408+ 20180408 200408 _
20182019

— 20182020 x 20180408 = (20180408 x 20182019 + 20180408)
20182019

20180408 % (20182019 +1) )
20182019

= 20182020 x 20180408 - ( 20180408 x 20182020)

20182019

20182019
20180408 x 20182020

?

= 20182020 % 20180408 + (

= 20182020 x 20180408 x

=20182019
1 1 1 1 1
19. + + +...+ + =9
1009x1010 1010x1011 1011x1012 2016x 2017 2017x2018

_, 1 1 1 1 1 1 1 1 1 1

= (oo i) o o) (o) e o )+ (o
1009 1010° 1010 1011° 1011 1012 2016 2017° 2017 2018
1 1

T1009 2018
1

2018

)




20. 10987654321+11098765432 + 21109876543 + 32110987654 + 43211098765 +
54321109876 + 65432110987 + 76543211098 + 87654321109 + 98765432110 +
9876543211="7

=(1+2+3+4+5+6+7+8+9+0+))
+(2+3+4+5+6+7+8+9+0+1+1)x10
+(3+4+5+6+7+8+9+0+1+1+2)x100
+(4+5+6+7+8+9+0+1+1+2+3)x1000
+(5+6+7+8+9+0+1+1+2+3+4)x10000
+(6+7+8+9+0+1+1+2+3+4+5)x100000
+(7+8+9+0+1+1+2+3+4+5+6)*x1000000
+(8+9+0+1+1+2+3+4+5+6+7)x10000000
+(9+0+1+1+2+3+4+5+6+7+8)x100000000
+(0+1+1+2+3+4+5+6+7+8+9)x1000000000
+(Q+1+2+3+4+5+6+7+8+9+0)*x1000000000

=46 + 460 + 4600 + 46000 + 460000 + 4600000 + 46000000 + 460000000
+ 4600000000 + 46000000000

=511111111106



